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1. Given that

find EZ .
dx

y=403-1+2%7, x>0,
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2. Given
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4
=Vx+—+4, x>0
d i VX

dy .. . .
find the value of £ when x = 8, writing your answer in the form a2 , where a is a
rational number. Ti-17

¢

®)

CREMNEVEETES A1

A O O




d
1. Giventhat y=x'+x’ +3, find —éi—
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4
y=5x"—6x>+2x-3

(a) Find & giving each term in its simplest form.
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(b) Find &2 Fi-t2-
dx (2)
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5. Differentiate with respect to x

@) x*+6\x,
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Given that ———— can be written in the form 2x? — x9,
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(a) write down the value of p and the value of g.

3 2)
. , 5y 2x°— x?
Given that y = dx +T Tn—09
(b) find % . simplifying the coefficient of each term.
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5. (a) Write ——— in the form 2x"+3x? where p and g are constants.
x Tn—c
(=)

27x+3

Given that y = 55 -7+ x>0,
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(b) find % , simplifying the coefficient of each term.
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7. Given that blank
! 3
y=3x2+6x3+——2x 7, x>0 oy’
3Vx
dy : ,
find Ax" Give each term in your answer in its simplified form.
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7. Given that

2
y=8x3——4\/x+M, x>0

AL,

find & .
dx
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? (3-4vx)°
f(x)=—7——, x>0
Vx
1 1
(a) Show that f(x)=9x 2+ Ax? + B, where 4 and B are constants to be found.
&)
(b) Find f'(x).
3)
(c) Evaluate f'(9).
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7. Differentiate with respect to x, giving each answer in its simplest form.
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X+ 6Vx
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4, flx) = 3x + x3, x> 0.
(a) Differentiate to find f'(x).
- € @
- Given that f'(x) = 15,
(b) find the value of x.
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